LIA} B2} 7H2E] LIE7} 94D
olei X =gix]
=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

oY

THE!:

AR T

= E A ®El:

ZE 535.8.

AE[QlEA AR T

= E A3 &2l

LIAL £ 215 1.4305.

= E1.4034.

H2E, B3EX| k=

LIAL £ 215 1.4305.

=2 El1.4305.

M o2

Bk

= E Zas, oo, A Atst &2
AEQIFA AE! H{A:

2 E Fst oot 2 233
HFZE F oot & SYIEX| LS
e,

QEA ZHXN = 5H glof oft &2 fxl2]
HZE2 L X|5HOoF 5t R0l AFSE
HX EEE F F OIE &2 /X2
olse + UZ

SSE LA EHol S+ OB g8 =+
5. 10, 3L MEIHE ol8stod 2
EE9| xt& S22 X 04)0|

7S5t AL Zl0|20d 2la %& 7hsELICH
B2 =2EE Z0|7| ?lsh 237 2 24ME

[= =]

Z2E + IS LA 2El=0 08 51
75 ol 2202 ML S 3

23 Al

S5 47

MMM E]:
A 0|AM & K0665.

ofe HEZ 2 oI5t 13 ME K2146.

www.kipp.com - info@kipp.com 1/3



°
I o o = o= AEISS A A

LIAL B8} 712E L{EJ} Q111 SelX|7} §i= AE =2 AHo1 A

C =
olciiA =2ix]
=M

—
-~ .
=
~l e
~J
D-0,02
-0,04

ES 9%

FEHS  EY X AE EH D DI D2 L L1L2 AEE3 SW Fx30° Al EE FEHS

712 = S 2 EE2  A3F QM
F12 N F22. N

K0345.2903 K AE A3 3 M6x0,75 M2 241735 35 10 0,8 45 10 K0344.99
K0345.2004 K ESS Z3t 4 M8x1 M3 3221 7 4 13 1 6 12 K0344.90
K0345.2105 K AE Z3 5 M10x1 M4 3724 8 5 17 13 5 12 K0344.91
K0345.2206 K ES=] Z8 6 M12x1,5 M6 4228 8 6 19 1.8 6 14 K0344.92
K0345.2308 K ESS Z3t 8 M16x1,5 M8 5636 12 8 24 23 15 35 K0344.93
K0345.2410 K AE Z3 10 M20x1,5 M8 6240 12 10 30 28 15 34 K0344.94
K0345.2412 K AEl 28 12 M20x1,5 M8 6642 12 12 30 28 15 39 K0344.94
K0345.2516 K ESS Z3 16 M24x2 M10 8050 14 16 36 32 20 46 K0344.95
K0345.02903 K AHQIEA AE a5t 3 M6x0,75 M2 241735 3,5 10 0,8 4,5 10 K0344.99
K0345.02004 K 2E|QIEA AE Z3 4 M8x1 M3 3221 7 4 13 1 6 12 K0344.90
K0345.02105 K AEQI A AEl Z3 5 M10x1 M4 3724 8 5 17 13 5 12 K0344.91
K0345.02206 K AHQIEA AE a3t 6 M12x1,5 M6 4228 8 6 19 18 6 14 K0344.92
K0345.02308 K  AHQIlPA AE A3t 8 M16x1,5 M8 5636 12 8 24 23 15 35 K0344.93
K0345.02410 K AEQI A A&l Z3 10 M20x1,5 M8 6240 12 10 30 28 15 34 K0344.94

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/3



LIA} El3} F12E LET} 91 SEIX| I}
oI~ S8

o4
HA

rir
>
ul

2 EHQIZI 2

Es g0
F=wa By  EA MY EH D D1 D2 LL1L2 AEE3 SW Fx30° AE &4 FEHE
712 A S Bty E2 A3FQAM
F12F N F22 N
K0345.02412 K  AHQIHA AE 4st 12 M20x1,5 M8 6642 12 12 30 2,8 15 39 K0344.94
K0345.02516 K AEQIHA AE a3t 16 M24x2 M10 8050 14 16 36 3,2 20 46 K0344.95
K0345.12903 K  AHQIHA AE H|Zst 3 M6x0,75 M2 2417 3,5 3,5 10 0,8 4,5 10 K0344.99
K0345.12004 K AHEQIHA AE H| &3 4 M8x1 M3 3221 7 4 13 1 6 12 K0344.90
K0345.12105 K AE|QIEA~ AEl  H[ZFSF 5 M10x1 M4 3724 8 5 17 1,3 5 12 K0344.91
K0345.12206 K AHQIHA AE! HIZst 6 M12x1,5 M6 4228 8 6 19 1,8 6 14 K0344.92
K0345.12308 K  AHQIE|A AE H| &3 8 M16x1,5 M8 56 36 12 8 24 2,3 15 35 K0344.93
K0345.12410 K  AEQEA AE  H|ZESE 10 M20x1,5 M8 6240 12 10 30 28 15 34 K0344.94
K0345.12412 K  AHQlHA A& H|Zst 12 M20x1,5 M8 6642 12 12 30 2,8 15 39 K0344.94
K0345.12516 K  AHQIE|A AE H|Zs 16 M24x2 M10 8050 14 16 36 3,2 20 46 K0344.95
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



